CalculusllI
Practice Problems5: Answers
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Answer. I'H 6pital’s rule will apply, andcontinues to applyaswe useit, sowe getthetrain of equalities
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sincethelastlimit canbeevaluatedatthelimit poirt.
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Answer. Again, I'H 6pital’s rule will applythroudh thistrain of equalities:
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Answer. After verifying thatthe hypothesesf I'H 6pital’'s rule hold:
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Answer . We canusethe samemethals sincecog5m) = —1.:
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Answer. Sincex— 1 — 0andin(Inx) — —oo, thisis of theform 0- 0, andwe haveto invertoneof thefactors.
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usingalittle algebra.Now, apgdy I'H épital’s rule agan:
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Answer. I'H 6pital’s rule applies,andwe get
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Thusthe numbe we arelooking for is its own inverse,sois £1. However, sincethevaluesasx — + are
positive, thelimit mustbe1.
We notethatallittle algebawill doaswell:
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Answer. Thisis of theform c — 0, sowe needto startby usingsomealgebra. Puttingthe expressionovera
comman denoninator, we find
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Now we canusel’H dpital's ule:
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